Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - Stromness and South Isles Ward
Valid Votes	1,150
Positions to be Filled	3
Quota	288

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham BEVAN	Independent	281
Maia BRODIE	Scottish Greens	157
Rob CRICHTON	Independent	115
Lindsay HALL	Independent	175
James STOCKAN	Independent	353
Magnus THOMSON	Independent	69
	Total	1,150

Candidate James STOCKAN Elected with 353 votes, being in excess of the quota of 288

Transfers Report

This report contains the transfers results.

65.00000

Stage 2 - Surplus of James STOCKAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham BEVAN	133	0.18413	24.48929
Transfer to Maia BRODIE	19	0.18413	3.49847
Transfer to Rob CRICHTON	113	0.18413	20.80669
Transfer to Lindsay HALL	29	0.18413	5.33977
Transfer to Magnus THOMSON	36	0.18413	6.62868
No further preference	23	0.18413	4.23499
Not transferred due to rounding			0.00211
	Total		65.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Graham BEVAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maia BRODIE	27	0.05725	1.54575
Transfer to Rob CRICHTON	137	0.05725	7.84325
Transfer to Lindsay HALL	40	0.05725	2.29000
Transfer to Magnus THOMSON	34	0.05725	1.94650
Transfer to Maia BRODIE	8	0.01054	0.08432
Transfer to Rob CRICHTON	65	0.01054	0.68510
Transfer to Lindsay HALL	18	0.01054	0.18972
Transfer to Magnus THOMSON	28	0.01054	0.29512
No further preference	43	0.05725	2.46175
No further preference	14	0.01054	0.14756
Not transferred due to rounding			0.00022
	Total		17.48929

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Magnus THOMSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maia BRODIE	6	1.00000	6.00000
Transfer to Rob CRICHTON	27	1.00000	27.00000
Transfer to Lindsay HALL	20	1.00000	20.00000
Transfer to Maia BRODIE	6	0.18413	1.10478
Transfer to Rob CRICHTON	12	0.18413	2.20956
Transfer to Lindsay HALL	10	0.18413	1.84130
Transfer to Maia BRODIE	2	0.05725	0.11450
Transfer to Rob CRICHTON	11	0.05725	0.62975
Transfer to Lindsay HALL	6	0.05725	0.34350
Transfer to Rob CRICHTON	5	0.01054	0.05270
Transfer to Lindsay HALL	3	0.01054	0.03162
No further preference	16	1.00000	16.00000
No further preference	8	0.18413	1.47304
No further preference	15	0.05725	0.85875
No further preference	20	0.01054	0.21080
Not transferred due to rounding			0.00000
	Total		77.87030

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Maia BRODIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rob CRICHTON	45	1.00000	45.00000
Transfer to Lindsay HALL	56	1.00000	56.00000
Transfer to Rob CRICHTON	6	0.18413	1.10478
Transfer to Lindsay HALL	3	0.18413	0.55239
Transfer to Rob CRICHTON	9	0.05725	0.51525
Transfer to Lindsay HALL	10	0.05725	0.57250
Transfer to Rob CRICHTON	3	0.01054	0.03162
Transfer to Lindsay HALL	2	0.01054	0.02108
No further preference	62	1.00000	62.00000
No further preference	16	0.18413	2.94608
No further preference	10	0.05725	0.57250
No further preference	3	0.01054	0.03162
Not transferred due to rounding			0.00000
	Total		169.34782

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Rob CRICHTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lindsay HALL	81	1.00000	81.00000
Transfer to Lindsay HALL	46	0.18413	8.46998
Transfer to Lindsay HALL	51	0.05725	2.91975
Transfer to Lindsay HALL	24	0.01054	0.25296
No further preference	106	1.00000	106.00000
No further preference	85	0.18413	15.65105
No further preference	106	0.05725	6.06850
No further preference	49	0.01054	0.51646
Not transferred due to rounding			0.00000
	Total		220.87870